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BACHELOR’S DEGREE PROGRAMME
(BDP PHILOSOPHY)

Term-End Examination
June, 2013
ELECTIVE COURSE : PHILOSOPHY

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC
LOGIC

Time : 3 hours Maximum Marks : 100

Note: (i) Answer all the five questions.
(ii) All questions carry equal marks.
(iii) Answer to question 1o. 1 and 2 should be in about
400 words each.

1.  Draw and explain the square of Opposition. 20
OR

Explain the nature and scope of logic. 20

Z. Give an account of the informal fallacies. 20
OR

Describe formal proof of validity and prove the 20
given argument.

(a) (AvB)=C
(b) (CvB)=(A=E)
() AAE ../EVF
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3. Answer any two of the following in about
200 words each :

(a)

(b)
(c)
(d)

Explain the limitations and kinds of
Definition.

Write a note on Dilemma.

State the rules of inference.

What are the advantages of indirect proof ?
Substantiate with an example.

Answer any four of the following in about

150 words each -

4,
(a)
(b)
(©
(d)
(©)
(")

3.

Is Logic a Science or Art ? Explain,
Explain  the different types  of
Generalization.

Explain the limitations of Classical Logic.
Write a short note on axioms of syllogism.
What are the quantification rules used in
Predicate Logic ?

Prove the given argument :

(i)  (DAE)=F

(i) (D=F=G ../E=G

Write short notes on any five of the following in

about 100 words each :

(a)
(b)
(c)
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Denotation
Contradiction

Sentential connectives

10

10
10

10



(d)
(f)

(8)
(h)
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Constants and variables
Axioms
Deduction

Tautology

Give proof of the following :

i A=B
(i) C=D
(iii) AvC ../BvD
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(b) (CvB)=(A=E)
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(i) (DAE)=F
(i) (D=F)=G ../E=G
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TomefeR (Denotation)
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(e)
(f)
(8)
(h)
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(i) A=B

(i) C=D

(i) AvC ../BvD
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